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O &t=+2 : G2 (T2 )
i 2
”;_Q_Hl = oaue | SRS | 52

100 2H2 24 31,694,584 | 38,578,008 | 16,883,424

170 2H2Y0iZ4Y 28,494,584 | 37,528,008 | 19,033,424

173 ERIAHEEZE4+Y 23,101,923 | 33,193,123 | 210,091,200

01 IFNEZRFHY 17,608,000 | 26,843,000 | A9,235,000
o5t 16,108,000
SYA2((8,9,1027) otr-2Z FH|AY 466,000,0009d = 466,000
0 LE2|(1 287 SHARE HH|AFY 2,784,000,0009 = 2,784,000
0 £YA2((3,1027) st FH|ALY 836,000,0009 = 836,000
0 8, 3L(12F) ot E FHAY 737,000,000 = 737,000
0 £%A2((9,1027) st FH|ALY 1,778,000,000¢ = 1,778,000
0 AZ2| T 52012 ot FHIALY 438,000,0009 = 438,000
0 £RA| T 520 ot4E GHIALY 402,000,0009 = 402,000
0 3HIZ| T 5201S ot FHIALY 170,000,0009 = 170,000
0 AT HE0HS St FGHIALY 753,000,000% = 753,000
o {4, 0tE, A A7 s20ISot-E ALY 300,000,000% = 300,000
0 7|27 s20rE25t = H (ALY 300,000,000% = 300,000
0 3FdteHeAlE SHALY 1,883,000,000¢ = 1,883,000
0 St4ERZH| BTLAIY Al8Ti= 5,101,000,000% = 5,101,000
0 BIAX| S SO (B A8 S0 2HR]) 10,000,000¥ = 10,000
o E0|8A|OE Y 150,000,0009 = 150,000
W 750,000
0 - F ot HHIAIY 750,000
- =H| 750,000,000% = 750,000
ogzle 750,000
0 =T ottt E FHIAY 750,000
- =H| 750,000,000% = 750,000

03 Al=HEZZ4Y 3,076,500 | 4,242,250 | A1,165,750
O34t 2,776,500
0 SYA2((8,9,1027F) StH2 HHIAIY 93,200,0009 = 93,200
o HEA2|(1,227) str2t= FHIAIY 556,800,0008 = 556,800
0 YA2[(3.1027) st FH|ALY 167,000,0009 = 167,000
0 G, 3L(12F) otrHE FHAY 147,400,0009 = 147,400
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oATE g chel : 21l
= = of oy | BE= ) 25
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0 SY*2|(9,102+) st FH|AY 355,600,000¢ = 355,600
0 3&StrA Al SHAY 942,000,000¥ = 942,000
o ot Z4H| BTLAIY A|dtiz 510,000,000¢ = 510,000
o S0|8AIE HA|AIY 4,500,000¥ = 4,500
Ottt
0 =322 HH|ALY
- &H 150,000,000& = 150,000
SCREY
0 2ot 2 HH|AY
- &4 150,000,000¢ = 150,000
09 7JIEtHdEZE+Y 2,417,423 2,107,873 309,550
msjEsnly 1,818,023
0 3YA2((8,9,10=7) otz FH|AY 53,400,000¥ = 53,400
o B=x2|(1,2&7) Skrat=Z FHIAIY 319,350,000¢ = 319,350
0 SYA2|(3,1027) strt2 FH|AY 95,700,000% = 95,700
0 ERIZSY(1E) otttz FHAY 126,300,000 = 126,300
0 SY*2|(9,10287) st ZFH|AY 266,565,000¥ = 266,565
0 IS5t E|Ald SHAY 282,450,000¥ = 282,450
0 AZ2| 7 20k ote= FHIAY 28,131,000¥ = 28,131
0 &3 A7 &0k ot FHIAY 25,830,000¢ = 25,830
0 MR Z20FS ot e FHIALY 10,903,000¥ = 10,903
0 AT 52012 st FEHIAY 48,394,000 = 48,394
0 o2 -H| BTLAIY Al CH=E 561,000,000 = 561,000
getit=
0 =522 YHIALY
= 299,700,000¥ = 299,700
nez
0 =H R YHIAKY
-713 299,700,000¥ = 299,700
175 SAREZ+Y 5,392,661 4,334,885 1,057,776
09 7|EISAIREZ+Y 5,392,661 4,334,885 1,057,776
o St KRR EF 1,065,800¥%3,840m = 4,092,672
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oARE : g2 cho| : 28))
2
- oaue | SRS | 52
0 2t HoIRE 1,065,800¥/x750.60n =
o SR |IAE 1,065,800¥x469.15m =
180 |22 3,200,000 1,050,000 2,150,000
181 &MAYAHZ 1,000,000 50,000 950,000
01 EMAYLAZ 1,000,000 50,000 950,000
E=MALAZ 1,000,000,000¥ =
182 O|x& 2,200,000 1,000,000 1,200,000
01 Eo|e=z 2,000,000 1,000,000 1,000,000
0|2 2,000,000,000 =
02 7|EfO|e= 200,000 0 200,000

7[EIO|E

200,000,000 =




